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const int MAXN=5e5+5;

struct Edge
int to,next;

edge  MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt].to=v;
edge/edge cnt|.next=head/u];
head|u!=edge cnt;

char buf[MAXN];
int cnt[MAXN ;
bool ans|[MAXN];
vector<pair<int,int> > query|[MAXN;
bool check(int d

int temp=0;

_for(i,o0, temp+=cnt/d]|[1]&1;

temp<=1;

int d/MAXN|,sz/MAXN|,dfs id|[MAXN|,node id MAXN|,dfs t;
int h _son/MAXN|,mson|[MAXN]|;
void dfs _1(int u,int depth
szlul=1;d/ul=depth;dfs id/ul=++dfs t;node id|[dfs ti=u;mson|ul=0;
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
dfs 1(v,depth+1);
szlul+=sz|v];
sz/v/>msonlu
h sonlul=v;
mson{ul=sz(v];

void update node(int u,int v){cnt(dlul]| bufiul-'a’'|+=v;
void update tree(int u,int v

_for(i,0,szlu

update node(node id/dfs id/ul+il,v);

void dfs _2(int u,bool del
int i=head|u];i;i=edge[i].next
int v=edgeli.to;
v==h son|u ;
dfs 2(v,true);

h sonlul)dfs 2(h soniul, false);
update node(u,1);
int i=head|u];1i;i=edge!i].next
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int v=edgel[i].to;
v==h_son|u ;
update tree(v,1);

_for(i,0,querylul.size
ans|querylul[i].first|=check(query|ullil.second);
del)update tree(u,-1);
int main
int n=read int(),q=read int(),root=1,u,d;
_rep(i,2,n
Insert(read int(),1i);
scanf("%s",buf+1);
_for(i,0,q
u=read int(),d=read int();
query|ul.push back(make pair(i,d));
dfs 1(root, root);
dfs 2(root, false) ;
_for(i,0,q
ans|1i
puts("Yes");

puts("No");
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const int MAXN=1e5+5;
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struct Edge
int to,next;

edge  MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge|++edge cnt].to=v;
edge|edge cnt].next=head|u!;
head|u!=edge cnt;

int color/MAXN|,cnt/MAXN]|,max c;LL sum c,ans|[MAXN];
int sz[MAXN|,dfs id/MAXN|,node id[MAXN|,dfs t;
int h_son/MAXN|,mson|[MAXN]|;
void dfs _1(int u,int fa
szlul=1;dfs id|u|=++dfs_t;node id/dfs t|=u;mson[ul=0;
int i=head|u];1i;i=edge[i].next
int v=edgel[i].to;
v==fa ;
dfs 1(v,u);
szlul+=sz|v];
sz/v/>msonlu
h sonlul=v;
mson|ul=sz|v];

void add node(int u
cntlcoloriul |++;
cnticolor|ul >max c
max_c=cnt/color(ul!,sum c=color|ul;
cnticolor|ul |==max_c
sum_c+=coloru/;

void add tree(int u
_for(i,0,szlu
add node(node id[dfs id[ul+i]);

void del tree(int u
_for(i,0,szlu
cnt/colorinode id/dfs id[ul+i --3

void dfs 2(int u,int fa,bool del
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
v==h son|ul||v==fa ;
dfs 2(v,u,true);

h soniul)dfs 2(h soniul,u,false);
add node(u);

int i=head|u];i;i=edgel[i].next

int v=edgel[i].to;
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v==h_son|ul||v==fa ;
add tree(v);

ans|/ul=sum _c;
del)max_c=sum c=0,del tree(u);

int main

int n=read int(),root=1,u,v;

_rep(i,1,n
color|il=read int();
_for(i,1,n
u=read _int();
v=read int();

Insert(u,v);Insert(v,u);

dfs 1l(root,0);

dfs 2(root, 0, false);
_rep(i,1,n
spacelans(i]);
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const int MAXN=1le6+5;

struct Edge
int to,next;

edge [ MAXN<<1];

int head MAXN|,edge cnt;

void Insert(int u,int v
edge| ++edge cnt|.to=v;
edge|edge cnt].next=head/u!;
head|u!=edge cnt;
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int color MAXN|,cnt|MAXN|,max c,ans d,ans/MAXN];
int d/MAXN|,sz[MAXN|,dfs id|/MAXN!,node id[MAXN|,dfs t;
int h_son/MAXN|,mson|[MAXN]|;
void dfs 1(int u,int fa,int depth
diul=depth;sz/ul=1;dfs id[ul=++dfs t;node id/dfs t|/=u;mson|ul=0;
int i=head(u];i;i=edge[i].next
int v=edge(i].to;
v==fa ;
dfs 1(v,u,depth+1);
szlul+=sz[v];
sz[v|>msonlu
h sonlul=v;
mson{ul=sz(v/;
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void add node(int u
cntidiul |++;
cntidiul>max c||(cntldlul|==max_ c&&d|ul<ans d
max_c=cnt/d/ul|,ans d=dlu/;

void add tree(int u
_for(i,0,szlu
add node(node id|dfs idlul+i]);

void del tree(int u
_for(i,0,szlu
cnt/d/node id|/dfs id/ul+i --3

void dfs 2(int u,int fa,bool del
int i=head|u];i;i=edge[i].next
int v=edgel|i.to;
==h_son{u]||v==fa ;
dfs 2(v,u,true);

h sonlul)dfs 2(h soniul,u,false);
add node(u);
int i=head|ul;i;i=edge/i].next
int v=edgel[i].to;
v==h_son|ul||v==Tfa ;
add tree(v);

ans/u/=ans d-dlu/;
del)max_c=0,ans d=-1,del tree(u);

int main
int n=read int(),root=1,u,v;

_for(i,1,n
u=read int();
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v=read int();
Insert(u,v);Insert(v,u);

dfs 1(root,0,0);
dfs 2(root,0, false);
_rep(i,1,n
enter(ans|i]);

.
1

goad

CF741D

HEN

O0000%s000 $n$ 00000000000 0ODO0O00ODO0O0OOO(($a\simv$)J00OooOoO
gboobogoboooooo

RN

gobogobooobboooboboooobooobboono
gobooobboobobbooobbuooobbuooobbooobboo
OO00O00DO000O0DO0O0DOO00obOOobOooboOobosesDoOoDOs2s00nO

dddddodoododddooooooododoooooooooooooooooooon
gbobooooboo

gobooobobooobbooobobooon

00000 $0(cn\logn)$0 0000 $02~c)$00 0O $c$ DD DO OO

const int MAXN=5e5+5,MAXS=22;

struct Edge
int to,w,next;

edge MAXN | ;

int head MAXN|,edge cnt;

void Insert(int u,int v,int w
edge|++edge cnt|=Edge{v,w,head|u]l};
head|u|=edge cnt;

int c[1<<MAXS],ans|[MAXN];
int d/MAXN],sz[MAXN]|,w MAXN]|,dfs id|/MAXN|,node id[MAXN|,dfs t;
int h_son/MAXN|,mson|[MAXN]|;
void dfs 1(int u
szlul=1;dfs id|ul=++dfs t;node id/dfs t|=u;mson[ul=0;
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int i=head(u];i;i=edge[i].next
int v=edge(i].to;
wivi=wlul~edgelil.w;
divi=diul+1;
dfs 1(v);
szlul+=sz|v];

sz[v|>msonlu

h sonlul=v;

mson{ul=sz(v];

int query node(int u
int ans=c|wlul|+d[ul;
_for(i,0,MAXS
clwiu <<i) |+dlul=ans
ans=c/wl/u/™(l<<i)!+d|ul;

N

ans;

void add node(int u){clwlul|=max(clwiul]|,dlul);
int add _tree(int u

int ans=0;

_for(i,0,szlu

ans=max(ans,query node(node id/dfs idlul+i ;

_for(i,0,szlu

add node(node id/dfs id/ul+i]);

ans;

void del node(int u){clwlul!=-MAXN;
void del tree(int u

_for(i,0,szlu

del node(node id/dfs id/ul+i]);

void dfs _2(int u,bool del
ans|ul=diul*2;
int i=head|u];i;i=edge!i].next
int v=edgel[i].to;
v==h_son|u ;
dfs 2(v,true);

h sonlul)dfs 2(h soniu!, false);
ans/ul=max(ans|ul,query node(u));
clwlull=max(ciwiull,dlul);

int i=head(u];i;i=edge[i].next
int v=edge(i].to;

v==h_sonlu ;
ans|u/=max(ans|ul,add tree(v));

ans/ul-=d[ul*2;
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int i=head|ul;i;i=edge/i].next

ans|ul=max(ansiul,ans/edgeli].to
del)del tree(u);

int main

int n=read_int(),root=1,f;char cc;

_for(i,0,1<<MAXS

cli]=-MAXN;

_rep(i,2,n
f=read int();
cc=get char();
Insert(f,i,l<<(cc-'a'));

w|[root|=0;d|root]=0;

dfs 1(root);
dfs 2(root, false) ;
_rep(i,1,n

spacelans|[i]);

.
1

From:
https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:

https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E6%A0%91%E4%B8%8A%E5%90%AF%E5%8F%91%E5%BC%8F %E5%90%88%E5%B9%B6

Last update: 2020/07/28 20:31

CVBB ACM Team - https://wiki.cvbbacm.com/


https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:jxm2001:%E6%A0%91%E4%B8%8A%E5%90%AF%E5%8F%91%E5%BC%8F%E5%90%88%E5%B9%B6

	树上启发式合并
	算法简介
	算法思想
	算法模板
	题意
	题解

	算法练习
	习题一
	题意
	题解

	习题二
	题意
	题解

	习题三
	题意
	题解




